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1IE2 Z=(m) 1% Z=(m)

1 JEARH - K& 1,584 51 &1 1,462
2 m/\FRH - 14l 1,516 52 AL 994

3 EARLL 1,624 53 EERR L 1,020
4 AR 828 54 | FHREEE - KPAE 1,870
5 BT 626 55 BAHEE - LEE 1,771
6 Wi S8 F 508 56 5 HEE - SR 1,417
7 =pzupil 1,034 57 BREEE - LS 2,025
8 P& 1,159 58 | EREEIE - BREARL 2,105
9 +A0A L 991 59 iSHIES 1,541
10 A& 958 60 BEE 1,253
11 INEE 1,042 61 & 1,262
12 B 1,232 62 fra 1L (DA L) 1,500
13 BERN s & 1,158 63 =l 1,264
14 AR E 1,178 64 REE 1,366
15 S 1,454 65 e 1,356
16 KL 1,170 66 B3l 553

17 N\IEF 1,613 67 R 1,172
18 BELL 1,366 68 Y HEEE L) 507

19 pNE=E 1,216 69 &L 711

20 FREED & & 1,637 70 || 445

21 B F & (FLEE L) 1,478 71 g 800

22 ME & 1,440 72 BREEIE - R L 1,485
23 BERE 1,060 73 BEEE - FEE 1,825
24 peg il 956 74 BEEE - EFE 1,841
25 SN 1,348 75 B IR L 430

26 F2E 1,432 76 il 825

27 i 981 77 HEE 967

28 B3l 2,236 78 RIBR L 1,193
29 =vALl 1,466 79 EME 952

30 EF 1L 2,038 80 — VL 710

31 LML 1,063 81 | BEE:EE - mEEL 2,035
32 LR 1,239 82 | BEEIE - EEEL 1,975
33 HEAR L 1,123 83 ZEKRR L 1,700
34 SBERtE 1,005 84 B 1,819
35 Bl | 1,914 85 AEENLL 1,009
36 SR 1,645 86 — gzl 1,544
37 BBy & 514 87 =AIEE 1,917
38 NAFWL 1,294 88 INBPEE 1,383
39 FHIEWL 1,341 89 Chanll 1,482
40 Kl 875 90 FoyE vyl 1,234
41 i 1,548 91 to & 1,636
42 £ 1,340 92 FoE L (RBR &) 1,580
43 C Nl 1,627 93 AL 1,971
44 = L 1,365 94 g S 1,387
45 Nl 1,367 95 A 828

46 E=A1n 1,027 96 AEE 1,586
47 FilEE3L) 1,075 97 22 HE 1,624
48 iR 1,016 98 Ep=t o 2,132
49 =EONIT 1,227 99 =EE 2,065




